=

6% 8% 100

4%

2%

e [ B 100%

20

0%

eGFER group ( p value = 0.301)

= eGER groupl (n=400)
_| = eGER group? (n=445)
T T T T
0 1 2 3 4
Time (years)
eGFR group ( p value < 0.001)
—— eGFR group? (n =445)
eGFR groupd (n =103}
T T T T
0 1 2 3 4

Time (years)

8% 1000

6%

4%

20"

[

6P% 80% 100%

e

20

0%

eGFR group ( p value < 0.001)

\_.H_L

= eGFR groupl (n=400)
| = eGFR group3 (n=204)

0

I T T T
¥ 2 3 4

Time (years)

eGFR group ( p value < 0.001)

_| == eGFR growp3 (n

—— eGFR group? (n

T T
¥ 2 3 4

Time (years)

Survival (%)

Survival (%)

800 100%

60%

40%%

20%

0

0% B0% 100%

0%

20%

0%

eGER group ( p value < 0.001)

m— eGER groupl (

Time (years)

eGFR group ( p value < 0.001)

Time (years)

Survival (%)

Survival (%)

6% 8% 1002

4%

2P

a

e ol B0 100%

20Fa

[0

eGER group ( p value < 0.001)

m— eGER groupl (n=400)
| = eGFR group’ (n=387)

0

T T T T
1 2 3 4

Time (years)

eGFR group ( p value < 0.001)

—— GFR group3 (n=294)
_| wm——eGFR group3 (n=87)

0

T T T T
E 2 3 4

Time (years)

80%a 1000

60

40

20t

0%

o 80 100%

A%

200

(1)

eGFR group ( p value < 0.001)

| = eGFR sroup3

= eGFR group2

T T T T
1 2 3 4

Time (yeass)

eGFR group ( p value = 0.807)

GFR groupd
| = «GFR growps
T T T T
1 2 3 4
Time (years)

Figure 1. Kaplan-Meier survival curve, comparison of each CKD stages, showed worse baseline eGFR was related to the incidence of ESRD.
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Figure 2. Kaplan-Meier survival curve in all enrolled participants, comparison of each DR grade, showed DR grade was related to the incidence of ESRD.
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Figure 3. Kaplan-Meier survival curve in patient without CKD, comparison of each DR grade, showed DR grade was related to the progression to CKD.



